ERNTEMELETRIREIAMBLE ¢

111 # % 1 =% € ke
- EFlllE]1Y B8p(APIH)TE2RE
I~ BB AR IORFER
2N APFX IRPAEELE Eé A%l
e~ ARAR e EIE
I AARE (%)
» > HEmEAE
CEERRALF T G R HLEE A LG EF
2 g g = ¢ (TMCA) T+ 4= OK ~ KTV prdg g (S B im 41 )i *
| WS F o R
TMCA =2 2. T+ 3 OK ~ KTV iz (o g ) * v s | 18
B 4o
-~ F PR A
()T EaXREFEF S5 2012 3,500 ~(AfR)3FH 4oif2 O F
g | TR TR S ELCS 00 (AP -
gy |(C)rE RS R R 3,500 2 (A PE -
S HE R R R A BRI A T F
EREEME B EG Y 3T FR IR ER T FHFLPE
i® wgpﬁmifﬁ%-ﬁ BRI R Rl R 1LD (K
i) -
MAZ Y R PPy & o
- ~TMCA >+ 110 # 4 » 18 p iz ¥ (FHE H 40§ LB ik 6] % 24 iF
FOARITNLAEFFIpREDL? 18 pAFH A%
o FARO T TRRAFRY G AR Mdp 2gad
B E gk
SRR ARYBRTREECEF AN II0EYY 13P £

1




gl

wooE E:“H

g R B AF R A S AR
P AR EERY T
ARG F R 3 £ TR TRy #ic
B E 2 A fE Ak TMCA R4 o
GBI N EHE Y L B o Y ik hg B
B TR S B R Td A LB a2 Hivg H s
THo LB A LB LR LWy 2 AL RS F
&ﬁﬂ$%w%&#?%ﬂ%#%%%ﬁ%ﬁﬁ5$?
I~ BRIFEREHE B FoH LU 0P
SRRy RARE- R R E Gt
Pl3-E TMCA 22 7 o P o4 PR T 4 {3 5 7 B4 2 A7 80
WA E WA L B B E R B
®FSRERAR R R 0 A B RAZE 100% 0 4 & FE
% B
A e BFA A UBAE AR B RF T
A B4R TP = 7§ WA (MUST ~MCAT 2 TMCS) % 6 i v8
B et 4EFY S 50,000 & > 4o s MUST 2 ACMA 2 F & #
Fpgoe i 7,000 o kA E BT 2 BdE > TMCA 2 # * 3
PR A OAZE 2,000 ~ o
Dy AMEVGAZERY FAoT !
(1)ixpe TMCA #r=>2 cnd p o> 5t % MDS655 % MDS219+YS405
20 P is o TMCA £ v ol dic s 18% = ACMA % & B4E(™
MUST 60% % 5,000 ~) » Fle 223k TMCA 2 & * dg 5 % 1, 500

~
|

—

bl

1~ ¥ 3

|l
FIRN

R

Pt
e
W

2‘ )’z 'l}r{1

o

Jo

*“\
‘z?ér

(D)E & % FpadFe MUST 2 ACMA Ap e 22 % 5 > & ghed 1 =t 1Y
0.5 =38 o
(= )TMCA & & -




1~TMCA P ER 2 t6 > &% A uE g5 57 nideg 3,500 ~
20 B R AR 0 R PHE 498 7B ~ 840 & 0 I A5
R LR B =228 5,000 &2

VAHEPY A A AFFE o FFEr L

2~TMCA g 322 § B F 0 SFdcd S A 37 5 A0 o FrR Y
> @ g ATMCA ¢ R > TMCA g »e A7 3 2 ¢ 5 3REkD 2 1)
s @rgRtE @ FF BT ot E o MOST 2k ~ W 2 ¢
ERY B 0 7 X5 5,000 ~ o ACMA 384 K gk 0 g AT
B 355 2,000 % 0 THCA /7 %9 m3m 23 5 5 3,500
~owBEE -

3~TMCA 23l ¥ A MEWF T L5 § F ol e *
Fen s BOTL PR AR TMCA »+ & B2 9 &4k 30 et 7o &
Fads BEX AR 2 3 2.5 ) P R 3Rl 640 7 Ecw o H ¢ TMCA
H I 245 7 (AR ERIE P t 38.28%) 0 TiaE RUE € B4 8
F oM ERE R Y E QL PlE X T 0B 25 ST 32
Fode¥ = 15 A E o BER 55 13,687 ~ & 17,520 & o
Wig 2 HE 0.5 2 o BRR P S5 4,562 ~ & 5,840 & o
TMCA #r=_% & 3,500 ~ % «Eﬁ% °

4~ 3 TMCAS % ¥ d % 555 1.5
A P G F E e R 1‘?& A ’Ef At RS
B RRESERIY AL DV RERY GE o § R
i

= ARAETRER

Ird A 110 # 12 7 2 111 # 1 ? R R SR %7
MDSE55( 7 4 #-#cH )~ &% (z £~ F ~ L4 -7 7 2 ife 4
THE) 32 £ LIVE2 38 33 51 5 o

\\"_"t IRy




2 AR flr g2 THRRFTRAEEEN hR ) HRERELT
VSRR EAR U S O R %1&@&0

e~ TMCA » 2B g 59 4efe o B @@.J & o TMCA ¢
11011 * 5P - HEE§ géizi#éiz’{“ﬂ“,f T4 2 ~F
PRl ¥R o FE 4 3,500 R(AAIFE 2 f g A

Rt

iR

REIGFA F AT
ﬁi?ﬁ%i A RELTHE ALD FAFHES S 2 E T
e A g H 2 G * FFRNF Ao Y

\\\Xr

S E

)

-~ HW B FmAs o TMCA kY AT e B B F
RO IMCAE Y g5 RAhnF T E s FFEMLHEY

%L Tameg | i a4 0.5 A3 8 L 94k
m

qﬁ$%¢’a%i$ﬁ%%?m'ﬁ1’
FPR2 AAEEL R Lo agY LA
Moot TMCA % 2 A A L o & 4o
(-)&Z A2
S L ERE AN 205 A% 3 244 F <o 7k tF 10%
2R E A BAp e 8% kg F R EOTAIIT R B
ﬁ?’%$wﬁﬁﬁﬁjiﬁ%’%%rc’ﬂv”%Mm

ﬁf_%ﬂf‘f‘:avﬂzoooii%:’f"i%’é <5 2,600 & o
5?%%?@W““T£piﬁﬂp&%“% 24w E
E‘,lﬁi}fio

(Z)FL | =%
W ERBATRG Z R EML E WS kg o Aul
MUST 2 ACMA 2. 3R 7 % 8 TMCA % 2 5 » = 3.8 ¥ Ba 4
B2 B FAH 5 8,250 AE 9,650 & - K2 @ W AR LE
Mk 17% 4o% A kG FTend BN LFEV L € % o




By BT AT BB Rh F2 A2F] Rk TNCA
A RMISTZ E/Ffed FAHEEHY I L 2PFE
108 #% # ACMA 7 SPEFETREH B FlE9E 4 @3%%
Ao MRS K TMCA » v RAYS 300 5 s K
*9% 2,150 ~ o

(Z)m4 B iz :
FER 108 &% T ACMA 2,000 ~ > & g ez # 2 £4
W g K AMCA s e 53 ST Tt TMCA Jedk e
m+g%%&% it end Bl B> u MOST 2 5,000 = % 5 %
BEAER VT EY R FY RApde s PEKEY LT B
%‘_@]%}ZLF&’M zki%ﬁﬁif]%c— Bk y 552,000~ 0 e
12 ACMA 2 2,000 ~ 3 F kot gk b - d 0§ BFE 20y F R
Bkge g2 Ao g TMCA chp 773 L 1H 4 > 3
MR A T F B P 4 ks
ML BT A F AT 1 F M RZEA
TS o

(r)3 4 A ma
d *> 108 & % T ACMA eh% F & 2,000 ~ > & TMCA £ @ 5+
ACMA % i ™ > TMCA e § FR% & 33 2,000 ~ > o 2 4%
VR ACMA enf kg E TMCA % % - ¥ ¥ &9 % Ajneh=
AR EE SR -2 GE N L SR S ()
§ A > TMCA "= enBhap iz U % MEWF 5 A# $5)
TOHBRIE SN, 0 X T A 2,650 ~ 1 3,000 ~RF - %ga—
RAder AR p 73 TMCA £ B fzea 5 ¢ R
£ TMCA 1% ¢ ¢2 ACMA 4p I 2% 135 ACMA » ze b 37 E 419
Bop BRI p AR B AL A

(IH)FL AR
G SIEMEE L SN - AR S R




EFREFAGZFY B HAT I3 e ITLA KGR E B
FRMAT 2R S R E R NP R AT G 6]
MUSTS, 000 = 2 % 4% & TMCA 2 % & » 4o ptag + % 4 3
=P ACMA % 52,000~ 7 ¢ H e FERY FFR
fRid- o LD - R ETEER .
()& |~
¥ MUST % & % 101 # B3 %> SFRREIL 2 & B > 22
R A F E S A 101 & 2 Sk X 8% 0wt
515 TMCA 2 % %95 2,000 ~ o &= %3k TMCA 1% & » J&
ek ACMA % % me *ouidy o F1 5 ACMA >t 108 # %3k
fr e W e 53 k> 22 ACMA 3 F 23 £32 5 1% 2
F?%%ﬁ%ﬁ%%é%o
(= )% % B 5=
FE R 108 & F T ACMA % 3 %%LLW &%[ﬁ]@giﬁi
FERGEFERY FFE S A a1 o EF ks
FEATE 2L ARZHAUTFZFEST R ERF TS
2,640 =~ -
(MELRi=8
CHAM R RN Y BT ES = RS F B (MUST ~MCAT
% TMCS)?% * AR 3R 10,000 2 0 2 A & 5 Fie A e
oAkt - &R R I A RIEF - BAK P
MUST ~ ACMA % TMCA % = 4c 33,7 4216 10, 000 oo fe 3% A
i 1% 9,500 =~ > r;c#r“ﬁe MUST % ACMA 3% % F 4c 34 7,000
Ao TMCA 223 % 5+ % 2,500 ~ 1 3,000 ~ = +
(41)F % B #4:
FEHFF A R 2,000 & 0 F A B2 F % %k ACMA ~ MCAT
& TMCS(E) g F 38z § 2,000 ~ - @ &= F & THCA
PF LR R iAo BE Mgt 2P ¥ 25 TNCA




g¢R > 72,000 ~2 2,500 ~2 FF o

(L)pd =4
URRAE R BATR O U Sy 0 R E LR B
PEEE R SET AN R AR Q@;;
A g kgp o AR MIST 2 S5 B ¥ 4§ 4
B f iR RE Ry £UF R o TNCA @iﬁ!’_g & K
= 2,000 =~ o

(L-Dmi | +4
dOT I L R BT SR R kg o BT
fevg '% Bew jF™ Fid] > feR b p B &5 LRy
PHEF BB EEIEE AR A2 A EMEE Y
—1"5 X

SRR R LT ET TS Y
RoTMCA ¢ ¢¢ 2 Ak A H 6 B3 MM 5 - & &
SAREARTFLE S B MM § 5L T s

e L s
T To P AR RN ERNSFFLIVEAH HL A Y
%WW@wﬁMU AmA1%$<4%H€ P 2 i AR P

Ei P
,u%%ﬁfiﬁ%i‘?ﬁjinéi#i




